1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
w

=

=
<

=

[EEY

0.5

7000 GeV pp W+Jet

_| | I I I | I I I | I I I |_ 9
c
= Pruned jet mass(anti-k (0.7), 125<p <150, |y|<2.5) =z
— =
— — 00
— N
L _In
= Jo
— —
— 14
| TS
3]
= .=
— e
= ==
_ 1M
— BN
— — ™
©
— — O
— =M
— <
— B CMS 7] ;
— —— Pythia 8.308 default nis
= ---o-- Pythia 8.308 default-CD =5
~ -4~ Pythia 8.308 default-DL <
L A Pythia 8.308 default-MBR - 8
)
= = §
— g o
— 09
_| | | | | | | | | | | | | | | |_ =
:l T T T | T T T | T T T | T T I |:
— - 32
- S
‘\\ _ .
- 4 —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 |
0 20 40 60 80

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


